



Order Details By Event

Delivery 2/11/2013 to 2/15/2013

✓ = Delivered

Software Developers Expo 2013 (SDE 2013)

Portsmouth Convention Center/Spring Hills Exposition Services

Service Manager: Margaret Wilson

Exhibitor Move-In/Out: 2/11/2013 - 2/15/2013

Exhibitor Service Manager: Grant Martin

Event Dates: 2/12/2013 - 2/15/2013

Booth # 102 - Albinium Software

Onsite: Peter Roberts
202-555-1212
qa7@tellingstone.com

Item Name		Unit Price	Unit	Dur	Total
Carpet 10' x 10' Color: Silver Mist ✓	1.00	\$105.00	Each		\$105.00
4' Draped Table Color: Black ✓	1.00	\$68.00	Each		\$68.00
Padded Arm Chair, Gray ✓	2.00	\$43.00	Each		\$86.00
Wastebasket ✓	1.00	\$12.00	Each		\$12.00
Small Package Shipment - Advance ✓	2.00	\$75.00	Per Round Trip		\$150.00
Total Booth # 102 - Albinium Software:					\$421.00



Order Details By Event

Delivery 2/11/2013 to 2/15/2013

✓ = Delivered

Service Manager: Margaret Wilson

Exhibitor Move-In/Out: 2/11/2013 - 2/15/2013

Exhibitor Service Manager: Grant Martin

Event Dates: 2/12/2013 - 2/15/2013

Booth # 125 - Brighton Outdoor Sporting Goods

Onsite: Cassie Purcell

demo5@tellingstone.com

Item Name		Unit Price	Unit	Dur	Total
Carpet 10' x 10' Color: Burgundy	1.00	\$125.00	Each		\$125.00
4' Draped Table Color: Blue	2.00	\$88.00	Each		\$176.00
Wastebasket	1.00	\$15.00	Each		\$15.00
Standard Sign 7" x 11" Header Copy: Telling Stone Software Copy Letter Color: Black Background Color: Grey Request Easel Back: Yes (+\$5.75)	1.00	\$27.75	Each		\$27.75
Advance Shipment to Warehouse	5.00	\$65.00	Per CWT		\$325.00
Installation Labor Labor Supervision: Yes Mon 2/11/2013 7:00 AM	1.00	\$125.00	Per Man Per Hour	2.00	\$250.00
Total Booth # 125 - Brighton Outdoor Sporting Goods:					\$918.75



Order Details By Event

Delivery 2/11/2013 to 2/15/2013

✓ = Delivered

Service Manager: Margaret Wilson

Exhibitor Move-In/Out: 2/11/2013 - 2/15/2013

Exhibitor Service Manager: Grant Martin

Event Dates: 2/12/2013 - 2/15/2013

Booth # 274 - Fix Fuse

Onsite: Regina Cortland
(818) 549-5432

Item Name		Unit Price	Unit	Dur	Total
Wastebasket ✓	1.00	\$12.00	Each		\$12.00
Advance Shipment to Warehouse	1.00	\$0.00	Per CWT		\$0.00
Direct Shipment to Show Site	5.00	\$68.00	Per CWT		\$340.00
Total Booth # 274 - Fix Fuse:					\$352.00



Order Details By Event

Delivery 2/11/2013 to 2/15/2013

✓ = Delivered

Service Manager: Margaret Wilson

Exhibitor Move-In/Out: 2/11/2013 - 2/15/2013

Exhibitor Service Manager: Grant Martin

Event Dates: 2/12/2013 - 2/15/2013

Booth # 456 - Hawkins Communications

Onsite: Paul Richards
618-458-8542
tweet@tellingstone.com

Item Name		Unit Price	Unit	Dur	Total
Advance Shipment to Warehouse	5.00	\$95.00	Per CWT		\$475.00
Total Booth # 456 - Hawkins Communications:					\$475.00



Order Details By Event

Delivery 2/11/2013 to 2/15/2013

✓ = Delivered

Service Manager: Margaret Wilson

Exhibitor Move-In/Out: 2/11/2013 - 2/15/2013

Exhibitor Service Manager: Grant Martin

Event Dates: 2/12/2013 - 2/15/2013

Booth # 666 - ABW Technologies, Inc.

Onsite: Casey Hanson
615-452-5823
demo2@tellingstone.com

Item Name		Unit Price	Unit	Dur	Total
Carpet 10' x 10' Color: Navy	1.00	\$105.00	Each		\$105.00
4' Draped Table Color: Black	1.00	\$68.00	Each		\$68.00
Padded Arm Chair, Gray	3.00	\$43.00	Each		\$129.00
Wastebasket	1.00	\$12.00	Each		\$12.00
Advance Shipment to Warehouse	5.00	\$65.00	Per CWT		\$325.00
Installation Labor Labor Supervision: Yes Mon 2/11/2013 8:00 AM	1.00	\$100.00	Per Man Per Hour	2.00	\$200.00
Total Booth # 666 - ABW Technologies, Inc.:					\$839.00



Order Details By Event

Delivery 2/11/2013 to 2/15/2013

✓ = Delivered

Service Manager: Margaret Wilson

Exhibitor Move-In/Out: 2/11/2013 - 2/15/2013

Exhibitor Service Manager: Grant Martin

Event Dates: 2/12/2013 - 2/15/2013

Booth # 805 - Cores International

Onsite: Suzie Chapstick
617-555-1212
campaign2@tellingstone.com

Item Name		Unit Price	Unit	Dur	Total
Carpet 8' x 10' Color: Emerald	1.00	\$105.00	Each		\$105.00
Padded Arm Chair, Custom	2.00	\$52.00	Each		\$104.00
Wastebasket	1.00	\$12.00	Each		\$12.00
All Day Booth Porter (1000 to 3000 sq. ft.) Credit Start: Mon 2/11/2013 End:	10.00	(\$10.00)	Per Porter Per Day		(\$100.00)
Additional Extension Cord	4.00	\$12.00	Each		\$48.00
Advance Shipment to Warehouse	5.00	\$65.00	Per CWT		\$325.00
Shipment to Advance Warehouse Estimate Shipment Packaging: Crated	355.00	\$60.75	Per CWT		\$243.00
Cart Load Service	1.00	\$0.00	Per Round Trip		\$0.00
Installation Labor Labor Supervision: Yes Mon 2/11/2013 7:00 AM	1.00	\$116.67	Per Man Per Hour	3.00	\$350.00
Total Booth # 805 - Cores International:					\$1,087.00



Order Details By Event

Delivery 2/11/2013 to 2/15/2013

✓ = Delivered

Service Manager: Margaret Wilson

Exhibitor Move-In/Out: 2/11/2013 - 2/15/2013

Exhibitor Service Manager: Grant Martin

Event Dates: 2/12/2013 - 2/15/2013

Booth # Lobby - Corospace

Onsite: Paul Richardson

demo8@tellingstone.com

Item Name		Unit Price	Unit	Dur	Total
4' Draped Table Color: Black	1.00	\$68.00	Each		\$68.00
Padded Arm Chair, Gray	2.00	\$43.00	Each		\$86.00
Direct Shipment to Show Site Estimate Shipment Packaging: Crated and/or Skidded	355.00	\$116.60	Per CWT		\$466.40
Total Booth # Lobby - Corospace:					\$620.40



Order Details By Event

Delivery 2/11/2013 to 2/15/2013

✓ = Delivered

Service Manager: Margaret Wilson

Exhibitor Move-In/Out: 2/11/2013 - 2/15/2013

Exhibitor Service Manager: Grant Martin

Event Dates: 2/12/2013 - 2/15/2013

Booth # Food Court - Corospace

Onsite: Mary Richards

demo8@tellingstone.com

Item Name		Unit Price	Unit	Dur	Total
Carpet 10' x 10' Color: Gray	1.00	\$135.00	Each		\$135.00
4' Draped Table Color: Blue	1.00	\$96.80	Each		\$96.80
Padded Arm Chair, Gray	3.00	\$43.00	Each		\$129.00
Installation Labor Labor Supervision: Yes Mon 2/11/2013 7:00 AM	1.00	\$120.00	Per Man Per Hour	2.50	\$300.00
Total Booth # Food Court - Corospace:					\$660.80



Order Details By Event

Delivery 2/11/2013 to 2/15/2013

✓ = Delivered

Service Manager: Margaret Wilson

Exhibitor Move-In/Out: 2/11/2013 - 2/15/2013

Exhibitor Service Manager: Grant Martin

Event Dates: 2/12/2013 - 2/15/2013

Booth # Registration Area - Corospace

Onsite: Mary Richards

demo8@tellingstone.com

Item Name		Unit Price	Unit	Dur	Total
Carpet 10' x 10' Color: Navy	1.00	\$1.00	Each		\$1.00
Padded Arm Chair, Custom \$10 off	1.00	\$58.00	Each		\$58.00
Modular Hardwall Display Counters 1 meter	1.00	\$550.00	Each		\$550.00
Total Booth # Registration Area - Corospace:					\$609.00

Booth # Registration Area - Software Developers Association

Onsite: Alex Johnson
603-397-5039

Item Name		Unit Price	Unit	Dur	Total
8' Draped Table Color: White	2.00	\$47.50	Each		\$95.00
Special Drape 3'h per ft Color: Blue	200.00	\$1.13	Feet		\$226.00
Special Drape 8'h per ft Color: Blue	100.00	\$2.25	Feet		\$225.00
Padded Arm Chair, Gray	8.00	\$21.50	Each		\$172.00
Tackboard Panels 4'x8' Vertical	2.00	\$105.00	Each		\$210.00
Wastebasket	4.00	\$6.00	Each		\$24.00
Total Booth # Registration Area - Software Developers Association:					\$952.00

Total Software Developers Expo 2013: \$6,934.95